Gang decimaler med 10.100.1000

1,927 x 1000 =

9,047 x 100 =

6,7x10=

3,102 x 1000 =

4,687 x 100 =

9,16 x 100 =

7,095 x 10 =

4,832 x10 =

10,077 x 1000 =

3,44 x 100 =

Dato: Score:

5,416 x 100 =

1,01 x 1000 =

5,911 x 100 =

7,378 x 100 =

6,359 x 1000 =

2,328 x 1000 =

1,12 x 100 =

10,537 x 10 =

9,663 x 10 =

4,252 x 1000 =
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Gang decimaler med 10.100.1000

1,927 x 1000 = 1927

9,047 x 100 = 904.7

6,710 =67

3,102 x 1000 = 3102

4,687 x 100 = 468.7

9,16 x 100 = 916

7,095 x 10 = 70.95

4,832 x 10 = 48.32

10,077 x 1000 = 10077

3,44 x 100 = 344

Dato: Score:

5,416 x 100 = 541.6

1,01 x 1000 = 1010

5,911 x 100 = 591.1

7,378 x 100 = 737.8

6, 359 x 1000 = 6359

2,328 x 1000 = 2328

1,12 x 100 = 112

10, 537 x 10 = 105.37

9,663 x 10 = 96.63

4,252 x 1000 = 4252
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